Boden-Savast BS
Kvallstavling 2021-12-07

Partavling, 5 bord, 10 par. Antal brickor: 24. Medel: 96.0.

Plac Par Poéng % Namn MID Klubb
1 7 122 63.54 Tomas Lundberg - Peter Townsend 43798 27305 Luled BK - Boden-Savast BS
2 2 120 62.50 Henrik Adling - Monica Andersson 90717 12514 Boden-Savast BS
3 1 106 55.21 Lars Hermansson - Urban Andersson 31972 81068 Boden-Savast BS
4 3 96 50.00 Mats Englund - Jan Lundmark 61086 61085 Boden-Savast BS
5 10 91 47.40  Christina Hermansson - Pia Elmgren 33077 12647 Boden-Savast BS
6 4 90 46.88  Birgit Ronnbéack - Ingeborg Englund 41601 89348 Boden-Savast BS
7 6 88 45.83  Sonja Alakangas - Liz Nordberg 41086 43789 Boden-Sévast BS
7 9 88 45.83  Ulla Kummu - Monika Markstedt 93786 62841 Boden-Séavast BS
9 5 85 44.27  Thomas Lindell - Anders Holmstréom 57131 57132 Boden-Séavast BS
10 8 74 38.54  Birgitta Nilsson - Birgitta Friberg 33068 33069 Boden-Savast BS
1 Nord Ingen 2 Ost NS 3 Syd OV
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
7 8 44D0O-3 w6 500 80 00| 7 8 4v S+1 +6 650 80 00| 7 8 56 0-1 a2 100 8.0 0.0
3 6 3¢N-1 *J 50 50 30| 2 4 4vS= +J 620 40 40| 3 6 3¢ 0+1 a2 -130 4.0 4.0
10 5 3¢ N-1 ] 50 50 30| 9 1 4vS= 2 620 40 40| 9 1 1¢ O+3 vA -130 4.0 4.0
2 4 4¢ N-2 *] -100 2.0 60|10 5 4vy N= 2 620 40 40|10 5 4¢ 0= vA -130 4.0 4.0
9 1 4&V-= vA -130 0.0 80| 3 6 3v S+2 +J 200 00 80| 2 4 50 0= a2 -600 0.0 8.0
4 Vast Alla 5 Nord NS 6 Ost OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 6 5¢DV-2 45 500 80 00| 9 2 2vDS+2 ¢J 1070 80 00| 4 7 4v S+1 v2 450 8.0 0.0
8 1 INV-2 45 200 6.0 20 4 7 5¢0-2 vA 100 6.0 20| 3 5 4vS= *A 420 6.0 2.0
3 5 1vV+l ¢ A -110 4.0 40| 3 5 4aV+l 3 -450 3.0 50| 8 1 3vS= v2 140 40 4.0
9 2 3¢0+1 vlJ -130 2.0 60|10 6 44 V+1 3 -450 3.0 50| 9 2 2#V-1 vA 100 20 6.0
4 7 INV+2 a5 -150 0.0 80| 8 1 44V +2 vQ -480 0.0 80|10 6 4vS-1 »6 -50 0.0 8.0
7 Syd Alla 8 Vast Ingen 9 Nord OV
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
10 7 44 V-2 *A 200 80 00| 1 2 3NN+2 a2 460 70 10 9 3 3¢ N+1 *2 130 8.0 0.0
4 6 3a4V-1 ¢ A 100 40 40| 9 3 3NS+2 *2 460 70 10 4 6 3¢ N= *2 110 5.0 3.0
5 8 34V-1 ¢A 100 40 40|10 7 3NS+1 43 430 40 40| 5 8 3¢ N= *2 110 5.0 3.0
9 3 3sV-1 *A 100 40 40| 4 6 3NS= v4 400 20 60 1 2 5¢DN-1 &2 -100 2.0 6.0
1 2 34V+1 ¢ A -170 0.0 80| 5 8 INNH+5 2 240 00 80|10 7 5¢DN-3 43 -500 0.0 8.0
10 Ost Alla 11 Syd Ingen 12 Vast NS
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
9 4 2¢ N+4 vQ 170 70 10| 9 4 3NO-1 v6 50 80 00| 9 4 340-1 v3 50 8.0 0.0
10 8 14 N+3 v8 170 70 10 2 3 340+1 aJ -130 6.0 20| 2 3 3¢ N-1 a2 -100 6.0 2.0
2 3 3¢ N+2 *2 150 30 50| 6 1 3«0+2 s] -150 4.0 40|10 8 24 0O= *T -110 4.0 4.0
5 7 2¢ N+3 *] 150 30 50| 5 7 3NV+2 2 -460 2.0 60| 6 1 2vS-2 «8 -200 2.0 6.0
6 1 INS= *A 90 00 80|10 8 24DN-3 v2 -500 0.0 80| 5 7 2NN-3 45 -300 0.0 8.0
13 Nord Alla 14 Ost Ingen 15 Syd NS
Par Kontr Ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
1 10 2NV-1 49 100 6.0 20| 1 10 64 S= vK 980 70 10 3 4 3&N+2 ¢A 150 8.0 0.0
3 4 INO-1 a4 100 6.0 20 7 2 64 S= vK 980 70 10 1 10 44 N= 49 130 40 4.0
6 8 2NV-1 a2 100 6.0 20| 3 4 44 S+2 vK 480 30 50| 6 8 3&#N+1 49 130 40 4.0
7 2 INV= a2 90 20 6.0| 6 8 44 S+2 vK 480 3.0 50| 9 5 2&N+2 49 130 40 4.0
9 5 2NO= v5 -120 0.0 80| 9 5 3NS+2 vK 460 00 80| 7 2 3¢0-2 »5 100 0.0 8.0
16 Vast OV 17 Nord Ingen 18 Ost NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
7 1 44 0-3 +6 300 80 0.0| 2 10 44D0O-2 &A 300 80 00| 4 5 5¢0-3 vJ] 150 8.0 0.0
4 5 3NV-2 v7 200 50 30| 4 5 24N= vA 110 6.0 20 2 10 2vy N-1 *A -100 6.0 2.0
8 3 3NV-2 v3 200 50 3.0 7 1 2¢N= *6 90 40 40| 7 1 2NO+1 vJ] -150 4.0 4.0
9 6 240= *A -110 2.0 60| 9 6 3#0-1 LY 50 20 6.0 8 3 3NV+1 v2 -430 1.0 7.0
2 10 4v N-5 ¢A -250 0.0 80| 8 3 2vS-2 *4 -100 0.0 80| 9 6 3NO+1 vJ -430 1.0 7.0
19 Syd OV 20 Vast Alla 21 Nord NS
Par Kontr ut Res Poang Par Kontr ut Res Poang Par Kontr ut Res Poang
3 10 3NN+2 v2 460 70 10 5 6 2#S+1 43 110 80 00| 5 6 3NO-3 *K 150 8.0 0.0
5 6 3NN+2 v2 460 70 10| 1 4 Pass 6.0 20 1 4 3 N+1 *7 130 6.0 2.0
9 7 3NN+1 v3 430 40 40| 3 10 1vO= *3 -80 40 40| 9 7 2¢ V+1 & -110 4.0 4.0
8 2 3NN= ¢ A 400 20 60 8 2 3#S-1 s K -100 2.0 60| 3 10 3¢ V+1 v3 -130 2.0 6.0
1 4 2NN+3 v3 210 00 80| 9 7 24V+1 *A -140 0.0 80| 8 2 24V+1 v3 -140 0.0 8.0
22 Ost OV 23 Syd Alla 24 Vst Ingen
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
2 5 3NN+3 43 490 80 00| 2 5 44 S= &T 620 80 00| 2 5 44 N= +5 420 7.0 1.0
1 3 3NN= 43 400 6.0 20 1 3 3NS= ¢+ 4 600 6.0 20 9 8 4v N= +5 420 7.0 1.0
6 7 2NN+2 vT 180 40 40| 4 10 3NS-1 &T -100 4.0 40| 4 10 3v N+1 +8 170 3.0 50
4 10 2# N+3 43 150 10 70| 6 7 4¢S-2 &T -200 1.0 7.0 6 7 3v N+1 +8 170 3.0 50
9 8 44 N+1 43 150 10 70| 9 8 3NS-2 &T -200 1.0 70| 1 3 3NN-1 +4 -50 0.0 8.0
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